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Part A: Why type of function do the points above represent?



Part B: Explain how you determined your answer in Part A. 
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Which function shows the function f(x) = 3* being translated 5 units to the left?

B.
C. )=
D. ﬂx)—3'+5




image6.png
Use this table to answer the question.

f(x)

2 | 15
1] 9
5

3

2| 3

What Is the average rate of change of X over the Interval -2 < x < 0?

-10
-5
5
10
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A quadratic function Is shown.
fx)=x? +8X + 15
PartA

What Is the factored form of f(x) that reveals the zeros of the function?

L T(X) = (X + )X +2)
xX) = (X + 3)(x + 5)
x) = (X + 2)(x + 6)
x) = (X + 1)(x + 15)
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PartB

What Is the equivalent form of f(x) that reveals the minimum value of the function?

100 =+ 42 -1
. 10 =+ 37
L )= (X+272+3

A
B.
c.
D. f)=(x+17+8
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An object Is thrown in the air with an initial velocity of 5 m/s from a helght of
9 m. The equation h(t) = -4.9t + 5t + 9 models the helght of the object In
meters after t seconds.

About how many seconds does It take for the object to hit the ground? Round
your answer to the nearest tenth of a second.

A. 0.940 second

B. 1.50 seconds

C. 2.00 seconds

D. 9.00 seconds
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The points (0, 1), (1, 5), (2, 25), and (3, 125) are on the graph of a function.
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This list shows the number of text messages each student in a group sent in
one day.

16, 2, 8, 5, 3, 20,
15, 4, 9, 16, 19, 17

The students are creating this histogram to show their data.

Number of Students

1

0
1-5 6-10 11-15 16-20

Number of Text Messages

What should be the height of the bar for 6-10 text messages?
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Which number is equivalent to 518 - 3J4 2

A 152
6042
. 30V3
. 60V3
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A rectangle has a length of 12 meters and a width of 400 centimeters. What Is
the perimeter, in cm, of the rectangle?

A, 824cm
B. 1,600 cm
€. 2,000 cm
D. 3,200 cm
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The total daily expenses to operate Sheila’s pie bakery are the cost of salaries and
ingredients. Sheila has four employees, and she pays each worker a daily rate. On
average, it costs the same amount of money to make each pie. This expression
shows the total daily expenses for Sheila’s bakery to make X pies.

4(75) + $0.50x
What does the term 4(75) represent?

A. The amount of money Sheila must pay her employees per day.
. The number of pies Sheila must sell per day.

. The total cost of expenses per pie.

. The amount of money customers pay per pie.

oo w




image4.png
What Is the product of 7x - 4 and 8 + 52
A 15x+1

B. 30x+2

C. 56x% +3x- 20

D. 56x°-3x + 20




